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B 8 7 1 400 M X R R (1 4m) BRI ER BT

B R - BT E B & i & ® B =
B[R 17, 644, 300 + 509, 887 18, 154, 187
BEEAGE 17, 644, 300
EEEE 509, 887
Z D /R 17,644,300 x 53.85% (35% + (1 — 35%) ) 9,501, 455
EHERE 18,154, 187 + 9,501, 455 27, 655, 642
—HEERS 27,655,642 x 53.85% (36% = (1 — 35%) ) — 8,205 14, 884, 358
ES 30k 27, 655, 642 + 14,884, 358 42, 540, 000
HERSHELE 42,540,000 x 10.00% 4,254, 000
EBEEH 42,540,000 + 4, 254, 000 46, 794, 000




BERRE HER AR I A b X R R (-1 4m) BE R AT
& L] - Bk B = i il =
EERME 18, 154, 187
AT ERE 18, 154, 187
ETEH 18,154, 187
sEHBEREt 7, 563, 300
EEtEtE 268, 400
1 EEatat|E .00 84, 200 84, 200
=
2 Bk E .00 184, 200 184, 200
=
E3 R 7,294, 900
3 U L—AREREE .00 329, 900 329, 900
=
4 EHiE()EERLEST BRRER .00 184, 200 184, 200
=
S st E () EERLEST ERARSR .00 154, 900 154, 900
=
6 EFEGTH(QDZEEHNT RERSR .00 552, 600 552, 600
=
1T EHGAEQZEREAET EHAER .00 464, 700 464, 700
=
8 A EQ)BEAY L—AR £ .00 921, 000 921, 000
BHR =
9 EFHETHE Q) EEY L—RE FH .00 921, 000 921, 000
BHR %
10 BEfstE 3) B0 L— 8 &S .00 778, 700 778, 700
BR =
11 EematE D BERS L— R &5 .00 921, 000 921, 000
BR %
12 emEtE @ BERS L—o Rl /R .00 921, 000 921, 000
BR =




BERRE HER I B I 00 X 2 B2 (1 4m) BE A ER BT

13 MAEE @ ENS L—D R &F 1.00 778, 700 778, 700
PR

14 BRI O 1.00 183, 600 183, 600
15 MHEERO®RE 1.00 183, 600 183, 600
EEMER 9, 459, 200
ARER 9, 459, 200
16 HEFHHT 1.00 2,762,000 2,762, 000
17 A@EFRK 1.00 6, 697, 200 6, 697, 200
e 302, 800
FERE 302, 800
18 1his - #BE 4.00 75, 700 302, 800
mE 92, 800
iy 92, 800
19 BE 1.00 92, 800 92, 800
RS 226, 200
[ 226, 200
20 |EEER 1.00 226, 200 226, 200
EHEZR 509, 887
BHERARE 172, 487
21 FBARE 1.00 172, 487 172,487
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R 300, 000
22 ZBRRS 1.00 300, 000 300, 000
BIFER 37,400
23 BIAER 1.00 37, 400 37,400




RER-ET/ \vr—2 B AR B (1 ) AR B

551
AF : BEEE 1XHY
£ i 1848 - BTk B i % B i & & W E % =
FEREm (GRED
A 1.00 58, 600. 00 58, 600
HEm (A)
A 0.50 51, 200. 00 25, 600
& YE%EES - 1,00 84, 200. 00 84, 200
552
AF5 Bk 1KYy
£ i 1848 - BIKTR B w B B % % mE i =
FEHER (RED
A 1.00 58, 600. 00 58, 600
HEm (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 1.00 32, 800. 00 32, 800
& F YE%EES - 1,00 184, 200. 00 184, 200
55:3
B U L— o E R E HE 1LY
£ i 1848 - BIRTE B w B B & % = i =
FEHER (RED
A 1.50 58, 600. 00 87,900
HEm (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 2.00 41, 600. 00 83, 200
HEm (C)
A 2.50 32, 800. 00 82, 000
& YEEEER - 1,00 329, 900. 00 329, 900
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E55:4
A% BBRHE (D XIELESET KRERR 1XHY
£ i 1848 - BTk B i g B f & % i =
FEREm (GRED
A 1.00 58, 600. 00 58, 600
HEm (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 1.00 32, 800. 00 32, 800
& F YE%EES - 1,00 184, 200. 00 184, 200
H5:5
B BRHE (D XREST #HARR 1KYy
£ i 1848 - BIKTR B g B % % i =
FEHER (RED
A 0.50 58, 600. 00 29, 300
HEm (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 1.00 32, 800. 00 32, 800
& YE%EES - 1,00 154, 900. 00 154, 900
E5:6
B BRBHEQEERTI REER 1LY
£ i 1848 - BIRTE B g B & % i =
FEHER (RED
A 3.00 58, 600. 00 175, 800
HEm (A)
A 3.00 51, 200. 00 153, 600
HEm (B)
A 3.00 41, 600. 00 124, 800
HEm (C)
A 3.00 32, 800. 00 98, 400
& YEEEER - 1,00 552, 600. 00 552, 600
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A BHHEQEERT FHAER 1XHY
£ i 1848 - BTk B i g B f & % i =
FEREm (GRED
A 1.50 58, 600. 00 87,900
HEm (A)
A 3.00 51, 200. 00 153, 600
HEm (B)
A 3.00 41, 600. 00 124, 800
HEm (C)
A 3.00 32, 800. 00 98, 400
& F YE%EES - 1,00 464, 700. 00 464, 700
E55:8
A BHHEQ) BRI L—EE LRBERER 1KYy
£ i 1848 - BIKTR B g B % % i =
FEHER (RED
A 5.00 58, 600. 00 293, 000
HEm (A)
A 5.00 51, 200. 00 256, 000
HEm (B)
A 5.00 41, 600. 00 208, 000
HEm (C)
A 5.00 32, 800. 00 164, 000
& YE%EES - 1,00 921, 000. 00 921, 000
559
AF  BHHEQ) BRI L— EE FRER 1LY
£ i 1848 - BIRTE B g B & % i =
FEHER (RED
A 5.00 58, 600. 00 293. 000
HEm (A)
A 5.00 51, 200. 00 256, 000
HEm (B)
A 5.00 41, 600. 00 208, 000
HEm (C)
A 5.00 32, 800. 00 164, 000
& YEEEER - 1,00 921, 000. 00 921, 000
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£ i 1848 - BTk B i g B f & & B E i
FEREm (GRED
A 1.50 58, 600. 00 87,900
HEm (A)
A 5.50 51, 200. 00 281, 600
HEm (B)
A 5.50 41, 600. 00 228, 800
HEm (C)
A 5.50 32, 800. 00 180, 400
& F YE%EES - 1,00 718, 700. 00 778, 700
551
A BRHE W EAS L—EE BRBERER
£ i 1848 - BIKTR B g B % % B E &
FEHER (RED
A 5.00 58, 600. 00 293, 000
HEm (A)
A 5.00 51, 200. 00 256, 000
HEm (B)
A 5.00 41, 600. 00 208, 000
HEm (C)
A 5.00 32, 800. 00 164, 000
& YE%EES - 1,00 921, 000. 00 921, 000
5512
AF  BHHEWEAY L—KEE FRER
£ i 1848 - BIRTE B g B & % = &
FEHER (RED
A 5.00 58, 600. 00 293. 000
HEm (A)
A 5.00 51, 200. 00 256, 000
HEm (B)
A 5.00 41, 600. 00 208, 000
HEm (C)
A 5.00 32, 800. 00 164, 000
& YEEEER - 1,00 921, 000. 00 921, 000
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55 :13
A ERHE @ EAS L—EE EHRER 1XHY
£ i 1848 - BTk B i g B f o] i =
FEREm (GRED
A 1.50 58, 600. 00 87,900
HEm (A)
A 5.50 51, 200. 00 281, 600
HEm (B)
A 5.50 41, 600. 00 228, 800
HEm (C)
A 5.50 32, 800. 00 180, 400
& F YE%EES - 1,00 718, 700. 00 778, 700
514
A BhEIO&E 1KYy
£ i 1848 - BIKTR B g B ] i =
HEm (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 2.00 41, 600. 00 83, 200
HEm (C)
A 1.50 32, 800. 00 49, 200
& F YE%EES - 1,00 183, 600. 00 183, 600
5:15
A ¥ MR EE D& e 1LY
£ i 1848 - BIRTE B g B i i =
HEm (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 2.00 41, 600. 00 83, 200
HEm (C)
A 1.50 32, 800. 00 49, 200
& YEEEER - 1,00 183, 600. 00 183, 600
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55 .16
L BEHE X%y
£ i 1848 - BTk B i % B i & & W E % =
HEm (C)
A 40.00 32, 800. 00 1,312,000
B R
A 50. 00 29, 000. 00 1, 450, 000
& F YE%EES - 1,00 2,762, 000. 00 2, 762, 000
517
A% EEmfERk 1KYy
£ i 1848 - BIKTR B w B B % % mE i =
HEm (A)
A 30.00 51, 200. 00 1, 536, 000
HEm (B)
A 53.00 41, 600. 00 2, 204, 800
HEm (C)
A 53.00 32, 800. 00 1, 738, 400
HiTR
A 42.00 29, 000. 00 1,218,000
& F YE%EES - 1,00 6, 697, 200. 00 6, 697, 200
=518
L 1B - e 1E%Y
£ i 1848 - BIRTE B w B B & % = i =
FEHER (RED
A 0.50 58, 600. 00 29, 300
HEm (A)
A 0.50 51, 200. 00 25, 600
HEm (B)
A 0.50 41, 600. 00 20, 800
& YE¥4EH : 1.00E 75, 700. 00 75, 700
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=:19
2 BE 1XHY
£ i 1848 - BTk B i % B i & & % =
HEm (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 1.00 41, 600. 00 41, 600
& F YE%EES - 1,00 92, 800. 00 92, 800
55:2
L MEE/ER X%y
£ i 1848 - BIKTR B w B B % % i =
FEHER (RED
A 1.00 58, 600. 00 58, 600
HEm (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 1.50 32, 800. 00 49, 200
& F YE%EES - 1,00 226, 200. 00 226, 200
521
& BHEARE 1%y
£ i 1848 - BIRTE B w B B & % i =
BHEARE
=t 1.00 172, 487. 00 172, 487
& YEEEER - 1,00 172, 487. 00 172, 487
5522
B EFEHRER BT
£ i 1848 - BTk B W B B & % i =
E
= 1.00 300, 000. 00 300, 000
& YEERES - 1,00 300, 000. 00 300, 000
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55:23
A BIREE 1XHY
£ R - BikTE B & B W E &
WIRES
= 1.00 37, 400. 00 317,400
& B YE¥EER - 1.00% 37, 400. 00 37,400




